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L P8 BRI R A R 2 ] BRAKHERCA 1.497 20 0. 04 1.0 - - - — 93. 051 —
L”Eﬁéézz$4itﬁ%§§§%§g§§KEQ}FH1aji@§ BRAKHE A 1.673 20 0.1 1.0 - - - — 12. 7645 —
LV P RR B AL A BR 2 = BRKHERA 2.495 20 0. 088 1.0 - - — — 8.0782 —
L VAR B £ A ML A R 2 ) BRAKHE A 5.085 20 0.133 1.0 - - - — 23. 6867 —
[ I P Ry SV K H 15.37 40 0.125 2.0 0.133 0.4 6.21 15 601. 5848 —
Ll PH K SR K AL BEA BR 2 ) B H 7.536 40 0. 109 2.0 0.153 0.4 5.841 15 812. 4354 —
E%iFEiimf$£%z§fzgi§%é§%ﬂ ORILFEK BRAKHE A 6. 697 40 0.121 2.0 0.183 0.4 4.965 15 87. 7252 —
Mﬁéﬁﬂ&@%ﬂ%}ﬁ%ﬁ%ﬁ@/‘ﬁ% e BRAKHER A 4.324 20 0. 063 1.0 - - - — 103. 2618 —
W PP LA R ST AR A 7 KF PR A 1. 652 20 0. 058 1.0 - - - — 72.673 —
W PP LA TR SR A 7 Sl B A 2.434 20 0. 066 1.0 - - - — 342. 7498 —
L”Eﬁéézz$4iiﬁ%§§§%§i§gKEQ&EﬂEéiiﬁi BRAKHE A 1.074 20 0. 102 1.0 - - - — 255. 808 —
L VB A 0 4 AT ) I A R 2 ) BRKHERA 3.093 20 0. 151 1.0 - - - — 210. 5541 —
L P P RR T EE AL A BR 2 = BRAKHER A 1. 387 20 0. 070 1.0 - - - — 181. 1858 —
W P ARG LA R A BRAKHERCA 13. 088 20 0. 145 1.0 - - - — 72. 6761 —
L P AR B R RS A R 4 =) BRAKHER A 2. 444826 20 0. 023832 1.0 - - — — 5.2313 —
Ll BB EAL LA BR 2 = BRAKHERA 1.5513 20 0. 0828 1.0 - - - — 33. 3755 —
L VB A 1 T B L A R 4 =) BRAKHE A 1. 085 20 0. 024 1.0 - - — — 6. 2201 —
VPR T SR A BR 2 = BRAKHER A 6. 226 20 0. 1281 1.0 - - — — 0. 52 —
P P RRY JE S LA BR 2 = BRAKHER A 2.514 20 0.099 1.0 - - - — 72.7435 —
ey sag:ck ek eapapeaac] iy i BRAKHE A 0.998 20 0. 069 1.0 - - - — 56. 6022 —
L P AR 7 B B 2R L A R 4 ) BRAKHER A 4. 382 20 0. 063 1.0 - - - — 63. 6477 —
WP R AR R IR A BRAKHE A 3.615 20 0.079 1.0 - - — — 1.5327 —
L V8 P RR X B LA BR 2 = BRAKHERA 1.484 20 0.088 1.0 - - - — 13. 6951 —
P 2= A8 LA R A BRAKHERA 7.925 20 0. 1262 1.0 - - - — 32. 2695 —
L P 2= A6 ) LA R A BRAKHERCA 1.182 20 0.131 1.0 - - - — 42. 2189 —
P PR K LA BR 2 = BRAKHER A 7.064 20 0.117 1.0 - - — — 2.3035 —
[ERRIPNNAY BRAKHE A 7.704 250 3. 544 45 - - — — 9. 4621 —
P PR AR LA PR 2 = BRAKHER A 0. 809 20 0.117 1.0 - - - — 60. 2221 —
T KB A PR A BRAKHER A 43.700 200 0. 740 20 - - — — 0. 0005 —
LV 22 AESR AR ISR 6 BR 2 =) BRAKHER A 2.374 20 0. 055 1 - - - — 27. 0962 —
RATIHIE B A BR 2 = BRKHER A 13.336 40 0. 425 2.0 0.188 0.4 — — 21. 3326 —
JE%ﬁET;H&%é*”E@i%%’ RELTALTH BRAKHER A 9. 447 40 0. 149 2 - - 15. 568 25 158. 6274 —
L P A TH R ST A A BRAKHE A 6. 061 40 0. 067 2.0 - - 15. 614 25 66. 8292 —
L P 24 6 P AL TR A FR A ] BRAKHERCA 0. 525 40 0. 148 2.0 - - — — 0.7711 —
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